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(@euellarm-ellewL_ggmer QgmELiy 64 Lsshsmars Caram@ererg)
(This question-cum answer booklet consists of 64 pages)

Meyenrser/Instructions

(EpssaTL SiMle|amysemer ellamaTiiLGTTTEdr Sauproed Werunm Ceuar(Hib)
(Candidates shall comply with the following instructions)

1.  eremriiugryiser,  Qeuelarm-alenLgsrar  Qsrguy — Qurssd 64 LssmSMETS
Qarem(ererg cramLiens (Pl 2md CQgulg Gsmarer Couamhib. @s50smErled gCGseab
@apumgpller, oL anqunrs GCeum Gsm@ueau Gsieys samsmeantiiumerflb  Camill
Qupms Csmerer Couam@Ib.

Candidates shall first ensure that this question-cum-answer booklet contains 64 pages.
In case of any defect found in this booklet, they can request for replacement from the
invigilator immediately.

2. galearm clamahgh seallgsalurs ol eawsgeushbsar @LID @ &SILL(HETeTg).
MlaranriigmyrgEer eeldeimm alammelh@b el wellss @adsiulL @Lsdld Wl HGn
deLweflss Caamrpbd. oleorwelss egssiulL  @LsHhE GeelCu  eranguyb
CT(PS&HInL TG

Space has been provided to write the answer for each question. Candidates have to
answer the questions only in the space provided for that question. They should not write
anything outside the space provided.

3. efarewTiiLgTyiger cllerrggmerf e eeuGleum(m 9 eflgyd SiPleymssLiLL(Hetar
aanaisamsulorar efamss@rsE WLLOHCL el welsds CearOb. <sHE Warswmer
crananflsamsulonar ellammésensad allanwellgsmd, eeaibeunm Gfledler (pgelebd Lilanswimer

craremtlsanauiler aflenweflEsul Lol samrsdled of(HSgS0STeTeTiiLL DT LTE).

Candidates should answer the number of questions as instructed in the question paper
in each section. If more than the required number of questions are answered, the
additional questions answered in excess at the end of each section will not be taken into
account.

4.  Qecdam-dias OQsm@lbe deamssdr WD wHmb Prde ugeukEiseile) o cTere.
Smansg @amsaiiand pmide eugalld sriulBerarancuCu (pigelTaranel.

In this question-cum-answer booklet, questions are in Tamil and English versions. In all
matters, English version is final.
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Mamanriugmyiser @Qbs edamm-elen g Csr@luldmhg hss srevarybd SHifss6eH &

oL Mg).

Candidates should not tear off any leaves from this question-cum-answer booklet.

@5Gareney QUTNISSEIMT, APETS 6T(PFIUSDHSTEHOID, eT(PSGILIGampulerdl er(pgleugHHETEa|LD
Sawng wHICLTSHET giSsILLelldema.

There is no reservation of marks for neatness of writing and correctness of spelling in
respect of this examination.

NamarTILISTITSET S5 euarsed Curern elamssensd ale wellsgh Curips shiseas
QuuwergCuim, uHQeuameneGur e (WsdamLTgl. smserg Guwfled  esQumiusleyb
<l@ingluflerane. SjeUeummTen cllaTméa e, ugleails@baumpg clarmgaafled
@OudLtuc Hdrer Quuwit wHnid wpaeuflewGu LweTubhSsCauambLb.

Marmssailer  Quuwim, paseufl wdwees @GOG LU clldeaCueid, ‘iatiybr,
Qumip™ apaeuflsefley o <, @ DG Tde) Ul QF DWG 6rdHev erdev erdhev Gumemn
Qurgils Quuwirgener wLIHCW er(psCaiaTHIb.

Candidates should not write their name, register number while answering letter writing
type questions. Affixing signature in their name is also not permitted. To answer such
questions, the name & address given in the questions alone should be used.

If no name is given in the questions, they should write the general names like
ABC or XYZ or XXX in ‘From’ and ‘To’ addresses.
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0@ — I

UNIT —1
Wfley — <
SECTION — A
GOl : 1) gaGeurm ddamaihgd 150 QemhaErsE Wamne allanwefléseaib.
Note : Answer not exceeding 150 words each.

i) gaGeurm elamalp@d ugg EHICLETSET.
Each question carries ten marks.

1) Gar@ssiuul(erer  ghg  alamssaie amaCugid BTG
el aTT&s EH @ L (KD aflenL_wafléseb.
Answer any four questions out of five questions.

(4 x 10 = 40)

1. 1806 Geugynit sevsomeng) 1857 Sluiml sevsgdlen (peanrGenmy. Blape| erarians Hlwmuliu®hSs)s.

Justify that the 1806 Vellore Mutiny was a precursor to 1857 Sepoy Mutiny.

2. 19191 gyam(H& s LgHlenuig wmbleosdar @r el ol & wpapulder Qewdum g emer S IA@Hs.
Assess the working of Dyarchy in the provinces according to the Act of 1919.

3.  oalg sor sriluder ukisafllienus GHLUGLab.

Give an account of the contribution of Lalit Kala Academy.

4. @bSu swevgrammser ehridlameanibe sigmt uGLellear Lkidlamen (pearafleanaliLi(hSE!s.

Highlight the role of Sardar Patel in the Integration of the Indian States.

5.  Swe prihsafler srésmisear ereuaumm @QbHw &gbHr CurpmLgdear Salreunds@ns@ 2 sallwig)?

How far the International influences helped for the growth of Extremist nationalism in India?
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10.

fle) — <

SECTION — B
GOl : 1) eaGeur efamain@b 250 QamhaErsE Wame e _weflései.
Note : Answer not exceeding 250 words each.

1)  gaGeurm elameinEd ufameanbg wHICLGETSET.
Each question carries fifteen marks.
i)  Gar@ssuul@erer  Lbgl cdlammggafley  ereneuCuiend  BENE
eSlaa(eha @ L (HLb eflenL_wiefl&Esey .
Answer any four questions out of five questions.
(4 x 15 =60)

LTSS SN LD&EHEE S uleid @bHwT cudlawwrerg / eugieurang eremm Briger orhs euamsulled

Blenes S Hraar?

In what ways do you think, India is formidable / strong even in the midst of diversities?

190 mIOPTERTGET Fps-Fow FTHHSS QWEsHEET CQUETSET LOHMD GLHMSEHEREE eTSrmer
QABHpeEDWHD FeLps HePL(LPEDEHMET Blousd QslgHT?

Did 19t Century Socio-religious reform movements address unethical social practices against

women and children?

uasenL_w SO prsiasdler Qsmearanoule S BTG THSET6EHE; STEESMS FHLIMSSH L|6Terg?

How far the Keeladi excavation has had an impact on the antiquity of ancient Tamil

Civilization?

QeuerenemwGen GeualCum @uisssdle sulpasser gmflame cursssdler ukisatlienu LG 6HS.

Evaluate the role of working class of Tamil Nadu in the Quit India Movement.

QA q 69 @BHwmellen QuUmBeTTsTT CETeTanSUAET STéESE N6 < Tmiis.

Analyse the impacts of Economic policies in British India.
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12.

13.

14.

15.

g — 1I

UNIT —I1
Gfley — <
SECTION — A
GOl : 1) geullaum(m, eflarmmeliin@b 150 QamhseEnsa, WaTe cilan_waflsse|b.
Note : Answer not exceeding 150 words each.

1)  gaGeurm ellamalp@d ugg EHICLETSET.
Each question carries ten marks.
1) OQaer@ssuul(hearer  @Bg  lamssefler  arancuCuenid  BTeNE
el am&sEmd @ L (Kb aflenL_wafléseb.
Answer any four questions out of five questions.
(4 x 10 = 40)

@pHwrelfer Symoliyn Quarsdr LEhETWLSS Ty Senwlild Sallgwrs LRCHDHLSET LD S STrD
QUDMIGTETTISETIT CTETLIGNS T TU|BIGET.

Examine whether rural women in India have been empowered by their active participation in
Panchayat Raj system.

Arroliyp, psriyn soel @ Ceuallaws gmpliudd Wer-snmeder Lkians Bianid LSHUIEH Clelis.

Critically evaluate the role of E-learning in bridging the rural, urban educational gap.

@ndwmeller Crss smemse NHs0D eer Gamndng? Wes6r (FTama C(LIMEESED DS STEHBIGET
GTGITE0T?

Why is Total Fertility rate falling in India? What are it’s implication on population explosion?

sepasSlen UnsasULganigw Gfelleamiean_Cu seps peanar GobuBSgieudled iy sTrm Hlmeuermsisefler
umdlenars L elleurdlése, .

Discuss the role of non-governmental organisations in promoting social welfare among
vulnerable sections of society.

Arrodiyn  wasefld palbs Wflafarfler Lmeuste @LbCAUWTe GQeubmi LetellgEhdsE@Gn  epiguwl
556|5@H&GD Q)L (H& Qsdlpgl. Qbs AMsmasamw et SHOILTH CFis.

Seasonal migration of weaker sections of rural population is leading to empty schools and
closed doors. Critically assess this statement.
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16.

17.

18.

19.

20.

fle) — <

SECTION — B
GOl : 1)  gaGeurm ddamaihgd 250 QemhaErsE Wamone el welléseaib.
Note : Answer not exceeding 250 words each.

1)  geaGeurm elameiln@d ugameanbg WH LG LGETSET.
Each question carries fifteen marks.
1)  Qar@ssuul(herer @b lammggafley  erepeuCuiend  BENE
el am&sEms @ L (KD aflenL_wafléseyLb.
Answer any four questions out of five questions.
(4 x 15 =60)

sl @iqlineuie euerrgsluflen Liwearseten swwHn alFCLTsL @muie WrmbHu aurssams
2615 &6SH DI 2 mIGET LiFlane eT(HSSISSTL (DL 6l6rs @s.

Unequal distribution of benefits of development on regional basis eventually promotes
regionalism. Substantiate your answer with illustrations.

Gl d Lrldl ool 0ESEREE ASsTrD  eflggieTens eremm  &HMHSMS ﬁréw;m THmS
Qamerddrserm?

Do you agree with the view that digital revolution has empowered the people at grass roots?

@ndwureiler gmdle weanearCGeur auaridslan aul u@E&EL, QUTBeTTSTTD WHMID CUMHETTSTFLOHM
sryentlsener SHLITEH QFis.

Evaluate the economic and non-economic factors influencing entrepreneurship growth in
India.

@ndwmelley eflepreumen BsFLOWILMSES6 CFwLDs6T T 2 (Heum@w LoGeum sepsl WrsSlanarsaerd

umml afleundléseyb.

Discuss various social problems that originate out of the speedy process of urbanisation in
India.

UMD, GWhang CSTHOTETHESG STIE@ILNT ADOF GRHang CSTOOMETT, UMELGE STTeETLT

eraUeng LiGLLmiie| Gladis.

Analyse whether poverty is the cause of child labour or child labour is the cause of poverty.
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21.

22.

@ — III

UNIT — III
Gfley — <
SECTION — A
GOl : 1) geullaum(m, eflarmmeliin@b 150 QamhseEnsa, WaTe cilan_waflsse|b.
Note : Answer not exceeding 150 words each.

1)  gaGeurm ellamalp@d ugg EHICLETSET.
Each question carries ten marks.
1)) Gsr@ssuul(erer  eperm  edlamsseailer  ereneuCGuend @ rewr(H
el am&sEmd @ L (Kb aflenL_wafléseb.
Answer any two questions out of three questions.
(2x10=20)

(1) 21 Q&b el Lqpeier o (Hevarls LTSSHTSSed awrantm 2 drargl. 6 Cal 9L perer e 2 Comss

(<=4)

(a)

(b)

(a)

(b)

Carardens @QSaIeT epLp@GLbLIg 9L LTed LTSS rsHled Serantm oL L 1D 6TeUEIETE 2 WI(THLD?

@@ drrwsdear wEsaT CQsTens 3925. @HBUMBSE @M Brmadsg 20 o &isb  gawent
AFCuTLLIsHE ehpmHCurd Quilu semenT QSMiy UL LILLL gl Sissaman s Csm i &S
5 Q&S <y rperer @muier cufluns ellammgs@ 4 8 Coussdd sement Qavdpgl. eeublounm
BIEHD 4FCST 1quledr Setmentm Hlenmuwi ereueuera| Crb <u@b? (7 =3.14)

A cylindrical vessel of diameter 21 cm contains water. A metal sphere of diameter 6 cm is
lowered into the water until it is completely immersed. By how much does the level of
water rise?

An over head tank has been constructed to supply water to a village with a population of
3925 at the rate of 20 litres per day per head. Water is pumped into it through a pipe of
5 cm radius, the rate of flow being 4 m per sec. How long will it take to fill the tank every
morning? (7 =3.14) (10)

Q® wssssTRGET aibamaeapub T 864&E emeu ellhomr. @eicurn alhpded el
8% @emupid, wHmHéd 10% BLL(pD SeumdsE ghulLg. Cwrsssded eumeE Fhul L
Qemuib gl L L FH56ISD HTEHTs.

e sewrfleow 8% gemepLiquier T 6,000 @ rrb lpSpri eraflery Sigem GHSS lananwis

SIS .

A man sells two wrist watches at ¥ 864 each. On one he gains 8% and on the other he
loses 10%. Find his gain or loss percent on the whole. B)

Ram sold a almirah at T 6,000 after allowing a discount of 8%. Find the marked price.
(6))
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23. (&) 8 Q&S uss Serey CETETL @ @WHIEG N Caramsdaier AmwhE 2 areul L SHar 2 rsamss
seT(hLllg.

(=) 15 Q&S <y pperer aul Lgdler evowsHer 144° Carent ereney Syenwd@h pranfler Borsanss
Ser(HL9l1g..
(a) Find the radius of the incircle of a regular hexagon each side of length 8 cm. (5)

(b) Find the length of the chord of a circle of radius 15 ¢m subtending an angle of 144° at the

centre. (5)
Gfle) — <
SECTION — B
GOl : 1) geulleum(m eflermelln@b 250 QFnhs&Ens @, WaETe cilan_wafl&se|b.
Note : Answer not exceeding 250 words each.

1)  gaGeunm elameilhEd uglameanbg WH G LEETSET.
Each question carries fifteen marks.

1il)  Oar@&ésliul_(HdTer eperm amssatier  ereneuCGuayd @ e
el am&& e @ L (KD aflenL_waflése,b.
Answer any two questions out of three questions.

(2x15=30)
24. (=) Qe Crreul L o (panemuldler 2y rmisafler alflgd 4 : 3 wHmID SHeupdler 2 wirkisaflen eldsd 3 : 5
cramed eummlen euenerLirliLseflenr aldlsbd, Gwrssl Lplurlyseflear aldsb wHmID sem
Sjera|saflen aNElsd Y dwelhenns srems.
(=) @m wsCasramgdlan epearn Csrammseaien clfgmger (5x—-12), (2x+36), (3x+36) erafle
4x — 24 e S wmg?

(a) The radii of two right circular cylinders in the ratio of 4 : 3, and their heights are in the

ratio 3 : 5, Find the ratio of their curved surface areas, total surface areas and volume.

)

(b) If the angles of a triangle are in the ratio (bx-12), (2x+36), (3x+36).
What is the value of 4x —247? (6)
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25. @ FM&E6D FaL Tromeang o (hanerullen g dabL| Qenambs aulgalle) LB dal Trsden Qs
2 wipld 56 5. g6 S Liumsslern edllL b 42 15. 2 peners unsgdlen 2 wipd 28 1. Coabd 1 &8 fggmer
glawtlflen elenev ¥ 15 crafled, snLmybd Sm&ss Coameuwiner Hsmer glantuden cllaneniss SHrams.
CgIb 2 meanerl Li@gd wHmiD dalbll LiGSulen Hem i6me &Hrams.

A circus tent is to be erected in the form of a cone surmounted on a cylinder. The total height
of the tent is 56 m. Diameter of the base is 42 m and height of the cylinder is 28 m. Find the

cost of canvas needed to make the tent, if the cost of canvas is ¥ 15/m2. Also find the volume of

the cylindrical part and conical part. (15)

26. 60 B o wyaperer g Camyrser o &H LOHMD g AHLIDDO(BHS @@ SomIGmT ellerddlen
2 FAludern g Camemmiser perpGuw 30° whmib 60° erafld swmismy clarsassdlem 2 LITSmss STehms.
Cogib semisamy elaradlen o &fullelmbg CaT TS 6 9iq.é@ 2_6TeT SITSMSWLD ST6Hs.

From the top and foot of a 60 m high tower, the angles of Elevation of the top of a lighthouse

are found to be 30° and 60° respectively. Find the height of the lighthouse. Also find the
distance of the top of the lighthouse from the foot of the tower. (15)
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